B -

EH
F5| &K AR RS WEREAM| $HE | Fadha | BE
1 R Q235 (-4) kg 1540. 2 e =
2 AR 0235 (-5) kg 15532. 78| 4@l =N
3 R Q235 (-10) kg 13013.36| 4@l =W
4 R 0235 (-26) kg 2398 il =
5 R Q235 (=45) kg 1314 il =
6 R Q235 (-55) kg 1606 il =
7 AR 0235 (—=60) kg 6217 i =N
8 AR Q345 (-10) kg 3023. 58 ais =N
9 R Q345 (-28) kg 5236 il =
10 R Q345 (=35) kg 1912 e =
11 R Q345 (-46) kg 4261 e =
12 | AR Q345 (-48) kg 5508. 47 il =W
13 R Q345 (=50) kg 22035 1S =N
14 R Q345 (-52) kg 60485 e =
15 R Q345 (-54) kg 6020 e =
16 R Q345 (=55) kg 11488 e =
17 | 4R 0345C (-28) kg 2517 it =W
18 | At 0345C (=50) kg 3069 il =W
19 R Q345C (-52) kg 11877 e =
20 R Q345C (-60) kg 3738 e =
21 R Q420 (-8) kg 447. 61 e =
22 | R Q420 (-10) kg 867. 88 it =W
23 | AR Q420 (-14) kg 2194. 08 RiE =N
24 R Q420 (=27) kg 3230 e =
25 R Q420 (-28) kg 1055 e =
26 R Q420 (=34) kg 3771. 66 e =
27 R Q420 (=35) kg 9039 tais =N
28 R 0420 (-44) kg 6317. 27 1EE =N
29 R Q420 (-48) kg 8885 e =
30 R Q235 (-4) kg 1373. 1 e =
31 N Q235 (£ 40%3) *7000 kg 32494 RIS =
32 | A 0235 (£ 40%3) *8000 kg 35977. 86| A&k =N
33 | Q235 (£ 40%4) *7000 kg 30364. 61|  #EiE =N
34 | fAW Q235 (. 40%4) *8000 kg 23389. 14| #EiE =
35 FHAN Q235 (.~ 45%4) *7000 kg 41942. 88| HEiE =
36 paskal 0235 ( ./ 45%4) *8000 kg 29067. 26| f&EIE =
37 | A Q235 (£ 50%4) *7000 kg 49057. 18| &I E N
38 | fA4N Q235 (£ 50%4) *8000 kg 48185.37|  HEiE E N
39 paskal 0235 ( /56%4) *8000 kg 36114. 08| #&i& =
40 N Q235 ( /56%4) %9000 kg 31.01 RIS =
41 paskal Q235 ( /56%4) 10000 kg 30531.56| f&iE =
42 | N 0235 ( /56%5) *8000 kg 2074. 49 RIS EN
43 paika] Q235 (£ 56%5) *10000 kg 4378. 53 taiE =N
%1, 9o




91 FHAN Q345 (_~90%8) ¥10000 6239. 22 =
92 FHAN Q345 (£90%8) *11000 5297. 86 =
93 fH4W Q345 ( £90%8) *12000 4860. 02 =N
94 fH4W Q345 (~100%7) %7000 454. 86 =N
95 | fAN Q345 (.~ 100%7) *8000 12909. 36 =
96 | AN Q345 (~100%7) %9000 8967. 24 =
97 | SN Q345 ( ~100%7) 10000 6498 =
98 1AW Q345 (£ 100%7) 11000 7028. 67 =N
99 fH4W Q345 (£ 100%7) 12000 3508. 92 )
100 | fA%N Q345 (. 100%8) *7000 15725. 56 =
101 | fA%N Q345 (.~ 100%8) *8000 4910. 4 =
102 | fAH Q345 ( ~100%8) *11000 7021. 87 =
103 | fA4W Q345 (£ 100%8) 12000 3093. 55 =N
104 | 4N Q345 (£ 100%10) %7000 7302. 96 =N
105 [ fAHH Q345 (~100%10) *8000 8709. 12 =
106 | fAH Q345 (~100%10) *11000 498. 96 =
107 | A% Q345 (/110%7) *7000 9602. 04 =
108 | 4N Q345 (£ 110%7) %8000 6488. 83 =N
109 | fA4W Q345 (~110%7) %9000 14814. 58 =N
110 | fA%N Q345 (~110%7) *10000 14671. 44 =
111 | % Q345 (~110%7)*11000 10890. 26 =
112 | AW Q345 ( ~110%7) 12000 16890. 05 =
113 | AW Q345 (£ 110%8) %7000 7199. 02 =N
114 | 4N Q345 (£ 110%8) *8000 4005. 47 =N
115 [ fMA Q345 (£ 110%8) %9000 5845. 82 =
116 | AN Q345 (~110%8) 10000 4736. 2 =
117 | f0 Q345 (~110%8) *11000 4167. 86 =
118 | fA4W 0345 (£110%8) *12000 3410. 06 )
119 | fA 0345 (£110%10) %7000 1168. 3 =N
120 | fA%N Q345 (£ 110%10) *8000 1201. 68 =
121 | A Q345 (~110%10) %9000 11866. 59 =
122 | A0 Q345 (_~110%10) *10000 2670. 4 =
123 | AN Q345 (/110%10) *%11000 4038. 98 =N
124 | 4N 0345 (.~ 125%8) *7000 5969. 04 =N
125 | AN Q345 (.~ 125%8) 11000 1023. 26 =
126 | AN Q345 ( ~125%8) 12000 372. 1 =
127 | A Q345 (.~ 140%12) %7000 3037. 12 =
128 | fA4M 0345 ( £140%12) %8000 2041. 76 =N
129 | fA4N 0345 ( £140%12) %9000 4364. 26 =N
130 [ fAHH Q345 (£ 140%12) 10000 1276. 1 =
131 [ fA Q345 (£ 140%12) 12000 1225. 06 =
132 | AN Q420 (£ 125%10) *7000 2812. 55 =
133 | W 0420 ( £ 125%10) *8000 10408. 35 =N
134 | 4N Q420 (£ 125%10) %10000 7461. 87 =N
135 | A% Q420 ( ~125%10) *11000 18310. 28 =
136 | fAN Q420 ( ~125%10) *12000 13086. 97 =
137 | A Q420 ( ~125%12) %8000 9804. 67 =




185 | fA%N 0235 (/ 75%6) *10000 483. 35 =
186 | fAN 0235 (£ 75%6) *11000 303. 82 =
187 | fA4W Q235 ( L 75%6) *12000 580. 02 )
188 | fA4N 0235 (/90%6) *7000 58. 45 =N
189 | fA%N 0235 (.~ 90%6) ¥11000 551. 1 =
190 [ fA Q235 (£90%6) *12000 300. 6 =
191 | A0 Q235 (£90%7) *7000 5677. 73 =
192 | ff4N 0235 (~90%7) %9000 4519. 01 =N
193 | fA4N 0235 ( £90%7) *10000 7338. 56 =N
194 | AN 0235 (. 100%7) *7000 8414. 91 =
195 | AN 0235 (.~ 100%7) *8000 1732. 8 =
196 | fAH Q235 ( ~100%7) *11000 4765. 2 =
197 | fA4W 0235 (£ 100%7) 12000 23132. 88 =N
198 | ff4N 0235 (~100%8) *7000 5585. 58 =N
199 | fMA Q235 (~100%10) *10000 1360. 8 =
200 | A4 Q235 ( ~110%7) *7000 5343. 74 =
201 | A 0235 (/ 110%7) *8000 190. 85 =
202 | AN 0235 (£110%7) *10000 357. 84 =N
203 | fA4N 0235 (£110%7) *12000 572. 54 =N
204 | A 0235 (.~ 110%8) *7000 5209. 82 =
205 | ff4N Q235 (~110%8) *8000 21759. 46 =
206 | fH4N Q235 (~110%8) %9000 730. 73 =
207 | fA4N 0235 (£110%8) *10000 10554. 96 =N
208 | fA4N 0235 (£110%8) *12000 974. 3 =N
209 | 4N Q235 (/125%8) *7000 1302. 34 =
210 | fH 0235 (.~ 125%8) *8000 414. 92 =
211 | N 0235 ( ~125%8) 10000 27752. 16 =
212 | N 0235 (£ 125%8) *12000 186. 05 )
213 | fA4N 0235 (£125%10) *7000 5076. 81 =N
214 | S Q235 (£ 125%10) *9000 5595. 58 =
215 | ffA4N Q235 (~125%10) *10000 4577. 52 =
216 | S Q235 (£ 140%10) *7000 150. 42 =
217 | fA4N 0235 ( £140%10) %9000 773.57 =N
218 | fA4N 0235 ( ~£140%10) %10000 8380. 32 =N
219 | AW 0235 (_~140%10) %12000 1804. 99 =
220 | S 0235 (_~160%10) *10000 2967. 48 =
221 | f4N Q235 (.~ 160%12) %8000 940. 51 =
222 | N 0235 (£ 160%14) %9000 4588. 25 =N
223 | fH4N Q235 (.~ 180%14) %10000 5373. 62 =N
224 | fH4N Q235 (~180%14) *11000 5066. 56 =
225 | ff4N Q345 (~125%12) 11000 249. 66 =
226 | S Q345 (£ 160%16) *7000 539. 25 =
227 | fA4N Q345 (£ 160%16) %8000 8011.74 =N
228 | fA4N Q345 (£ 160%16) *11000 13134. 64 =N
229 | S Q345 ( ~160%16) *12000 462. 22 =
230 | fH4N Q345 (~180%14) %9000 1727. 24 =
231 | 4N Q345 (~180%14) *11000 4243. 45 =




279 | ARk Q420 (—65) kg 4577 JiEbE =
280 | WAk 0420 (=78) kg 4479 KT =
281 | FH4N 23 o =
i 0235 ([5) 6000 kg 228. 32 VBT =
282 e % ) fmig ELh
i 0235 ([12) 6000 kg 2315.13 B TS =
T o . fmig EYh
A 0235 ([180%60%5) kg 1530. 21 iR EA4b
284 | 0235 ([C1100%100%8) kg 2634. 59 S =
AR L . MR = 4
= (0J120%120%8) kg 2025. 68 JiEbE EA4b
286 | 4AWHR Q345 (-56) kg 29941 MR ;:%
287 | HWER Q345 (-58) kg 34325 MR ;’:%
288 | 4WAk 0345 (-60) kg 25635 %Eii i;%
289 | AWk 0345 (—62) kg 21762 %Eig— ;‘2%
290 | WAk 0345 (-64) kg 15273 N =
o s - iR iE] EYA
21 Q345 (-65) kg 55781 A VA
AR 0345 (—66) kg 26879 s ;
TR T S fmig ELh
Q345 (-100) kg 12839. 42 S =
- e - . iR iE] E%A
Q420 (-52) kg 14758. 77 S =
AR = . MR = b
Q420 (-54) kg 2204 VTS =
. s - iR iE] eSS4
0420 (-56) kg 7531 ] =
o s - fmig = 4h
- Q420 (-62) kg 5515. 82 ] =4
98 | 4N 0235 (£ 63%5) *7000 kg 6987. 08 eV _;%
299 | f4N 0235 (£ 63%5) *8000 kg 9412. 54 %5; ;i%
300 | fA4N 0235 (£ 63%5) *10000 kg 1687. 7 %Eii ;:9}
301 | N Q235 ( £ 63%5) *11000 kg 9918. 85 %Eii ;3%
302 | AN Q235 (£ 70%5) %7000 kg 3664. 57 fi—i _;;%
303 | fA4N 0235 (£ 70%5) *10000 kg 4209. 66 %i ;;%
304 | N Q235 (£ 70%5) *12000 kg 777.17 %‘5;— ;:%
305 | AN 0235 (£ 70%6) %7000 kg 12062. 5 %5; 32%
306 | fAiN 0235 (£ 70%6) *8000 kg 12350. 77 %Eii ;:%
307 | M 0235 (£ 70%6) %9000 kg 8129. 21 %ﬁii _;%
308 | N Q235 (£ 70%6) *10000 kg 13965. 08 %%i %:%
309 | fA4N 0235 (£ 70%6) *11000 kg 1832. 12 ﬁ;— ;;%
310 | fA4N Q235 ( £ 70%6) *12000 kg 9147. 77 %Eig— gﬁb
311 | N Q235 ( £ 75%5) *10000 kg 4188. 96 A ;:%
312 | A 0235 (£ 80%6) %6000 kg 1755. 49 F; ;:%
313 | W Q235 ( £ 80%6) *8000 kg 1770. 24 %%i i;i%
314 | W Q235 ( £ 80%6) *9000 kg 12480. 19 %5;— ;:%
315 | fA4N 0235 ( £80%7) #8000 kg 16845. 4 %E;:— 3—;%
316 | fAN 0235 ( £80%7) %9000 kg 3989. 7 Fii ;’:%
317 | AN 0235 ( £ 80%7) %10000 kg 5797 ;; ;’:9
318 | fA4N 0235 (/80%7) *11000 kg 1125. 3 s = }
319 | £ Q235 ' T —
( 90%8) %7000 kg 6666. 11 L] FE AL
320 | N Q235 ( £90%8) *8000 kg 6567. 6 eV ;:%
321 | M4 0235 (£90%8) %9000 kg 13594. 93 %Eii ;;%
322 | MM Q235 ( ~£90%8) *11000 kg 3491. 77 %Eii ;;%
323 | MW Q235 ( £90%8) 12000 kg 21147. 67 @i _;%
g;g gzﬁ Q235 ( 110%10) %7000 kg 5724. 67 %Ei% i%
N | 0235( ' e =
( £110%10) %9000 kg 9913. 86 TR = 4
/7T, o9




373 | AN | Q420(£200%14)*12000 e =
374 | fi4R | 420 (L200%18) ¥7000 lﬁi 182337573'7457 e e
375 ekl Q420 (£200%18) %8000 kg 2611' 25 %i{i ij&l\
376 | A4 | Q420(£200%18)*11000 kg 7180. 93 T ;5%
377 | A4 | Q420(L£200%18)*12000 ke | 1436186 i o
378 | HHN | Q420(£220%20)*12000 kg 3991. 98 e %%
379 | SN Q420 (£250%20) #8000 kg 9141.6 e =0
380 k! Q420 ( £250%22) %7000 kg 42586. 74 %E;{i j;:&]\
381 | fHi4H Q420 (£250%24) ¥4000 kg 1808. 66 i :;’;%
382 | fHHA | Q420 (£250%26) %9000 ke | 15788, 68 o o
383 | [5I4H 35% (b 52) ke 8359 53 i i‘é%
384 | [AN 42CRMO ( 50) ke 9390 i %%
385 | [FI%9 42CRMO ( 52) kg 4489. 49 :}‘;\{i i:»:%
386 | [AI4N Q235 (¢ 28) ke 1394. 95 i ;‘%
387 | [A%H Q345 ( 30) ke 79,84 i i‘i%
ggg zw 0345 ( 45) kg 709.2 gﬁ% %Zt
5 4% X =
i 2345 ($52) kg |29458.03| fik 241




